
Baumscheibe

2.50

öB=7.00

0.50
2.00

M 1: 1 000

PG/öBPG/öB öB = 3.00

R/F

Fuß- und
Radwege

                                                                                                       mm
0       10       20      30       40      50                                             100

S Kfz/R SF

Planstraße A

0.50 5.50

ÖG

PG

öB = 8.50S
S

4.75 5.00 2.000.50 0.50

S SFKfz/R P/G

öB = 12.75

PG

PG PG

Planstraße B

SKfz/R/F

ÖG

S

2.000.50 0.50

Planstraße C / D

2.00 0.500.50

SS Kfz/R/F

3.00

öB = 6.00PG PG

P/G

P

Planstraße E

Planstraße F

PGPG

Kfz/R/FS S

0.50 0.50

öB = 4.00

3.00

4.00

p

p

p

ö

ö

ö

ö

14
.0

3.
0

3.0

3.0

5.0

3.0
3.0

3.0

8.0

5.0

3.0

5.0

3.0

5.
0

3.
03.
0

16.0

16.0 3.
0

5.
0

14
.0

16.0 16.0

18.0

3.
0

20
.0

5.
0

15.0

5.
0

3.
0

14
.0

16.0

3.
0

3.0
16.0

3.
0

16.0

3.0

5.0

18.0

6.
0

3.
0

14
.0

3.0
16.0

3.
0

p

ö

10

WA 1

WA 5WA 6

WA 8

WA 2

WA 9

WA 1

WA 3

WA 4

WA 10

Pl
an

st
ra

ße
 F

Pl
an

st
ra

ße
 D

Pl
an

st
ra

ße
 C

Planstraße A

für das Gewerbegebiet "Am Hechtgraben"

Geltungsbereich des Bebauungsplans 
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